Resolution in
Prepositional Logic
Examples




So ={rvpvs, svq, -pVs, -S, sSVp, pV-r}




So = {rvpVs, sVvq, “pVs, s, 7SVp, pV-r}




So = {rvpVs, sVvq, “pVs, s, 7SVp, pV-r}




So = {rvpVs, sVvq, “pVs, s, 7SVp, pV-r}

=SVp can be subsumed Into =S




So = {rvpVs, sVvq, mpVs, 1S, 7sVp, pV-r}

=SVp can be subsumed Into =S




So = {rvpVs, sVvq, mpVs, 1S, 7sVp, pV-r}

~sVp can be sybsum/edinto S




So = {rvpVs, sVvq, mpVs, 1S, 7sVp, pV-r}

~sVp can be sybsum/edinto S

Resolution between —pvs and =s




So = {rvpVs, sVvq, mpVs,[TS,[msVvp, pV-r}

—SVp can be sm —1S

Resolution between —pvs and =s




So = {rvpvs,|svq,

mPVS,

S,

aSVp, pV-r}

—SVp can be sm —1S

Resolution between —pvs and =s




So = {rvpVvs,|sVq, FpVSs,[TS,[msVp, pV-r}

=SVp can be s iInto —s
Resolution between /pvs and =s




So = {rvpvs, |sVv(q, |

=SVp can be s

=S,[hsVp, pVv-r}

Resolution between /pvs and =s
Resolution between svg and —s




So = {rvpvs, |sVv(q, |

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pvs and =s
Resolution between svg and —s




So = {rvpvs,|svq, |

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pvs and =s
Resolution between svg and —s




So = {rvpvs,|svq, |

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s




so = {rvpvs|lsvq, Fpvs,[=s,~svp, pv-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s




So ={rvpVvs,

SV(Q, |

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s
fwert,1({S, "SVp}, {7s}) =0




So={

rvpVvs

9

svq, |

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s

fwert,1({7S, 7SVp}, {7s}) =0
fwert,1({S\/q, —IS}, {S\/q,—lS, q}) = 1




so = {rvpVvs||svq,

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s
fwert,1({S, "SVp}, {7s}) =0

fwert 1({SVQ, s}, {svq,-s, q}) = 1
fwert,1({-pVS, =S}, {-pVs,s, =p}) = 1




so = {rvpVvs||svq,

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s

fwert,1({7S, 7SVp}, {7s}) =0

fwert 1({SVQ, s}, {svq,-s, q}) = 1
fwert 1({pPVS, =S}, {-pVsS,s, 7p}) = 1
fwert 1({rvpVvs, —s}, {rvpvs,-s, rvp}) = 2




so = {rvpVvs||svq,

| —-s,' aSVp, pV-r}

=SVp can be s

Resolution between /pwvs and —s
Resolution between s\yqg and —s

Resolution between rvpvs and =s

fwert,1({7S, 7SVp}, {7s}) =0

fwert 1({SVQ, s}, {svq,-s, q}) = 1
fwert 1({pPVS, =S}, {-pVsS,s, 7p}) = 1
fwert 1({rvpVvs, —s}, {rvpvs,-s, rvp}) = 2




So = {rvpVvs, svq, pVvs, s, , pV-Ir}




So = {rvpVvs, svq, pVvs, s, , pV-Ir}




So = {rvpVvs, svq, pVvs, s, , pV-Ir}

s1 = {rvpvs, svqg, “pVvs, s, pv-r}




s1 ={rvpvs, svd, -pVvs, 1S, SVp, pV-r}

Resolution between —pvs and —s
Resolution between svg and —=s

Resolution between rvpvs and —s

fwert 1({SVQ, =S}, {SVQq,—S, q}) = 1
fwert, 1({7pPVS, =S}, {-pVsS,s, -p}) = 1
fwert 1({rvpVvs, —s}, {rvpvs,-s, rvp}) = 2




s1 ={rvpvs, svd, -pVvs, 1S, SVp, pV-r}

Resolution between —pvs and —s
Resolution between svg and —=s

Resolution between rvpvs and —s

fwert 1({SVQ, =S}, {SVQq,—S, q}) = 1
fwert, 1({7pPVS, =S}, {-pVsS,s, -p}) = 1
fwert 1({rvpVvs, —s}, {rvpvs,-s, rvp}) = 2




S1 = {r\/p\/S, y _'pVS, ) _'S\/pi p\/—ll’}




S1 = {r\/p\/S, y _'pVS, ) _'S\/pi p\/—ll’}




S1 = {r\/p\/S, y _'pVS, ) _'S\/pi p\/—ll’}

S2 = {r\/p\/S, , TPVS, , PV, }




s2 = {rvpVs, svq, -pVs, =S, pV-r, q}

Resolution between —pvs and —s
Resolution between rvpvs and =s

fwert,1({—pVS, s}, {-pVs,s, -p}) = 1
fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s2 = {rvpVs, sVvq, -pVs, -s, pv-r,|q}

Resolution between —pvs and —s
Resolution between rvpvs and =s

fwert,1({—pVS, s}, {-pVs,s, -p}) = 1
fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s2 = {rvpVvs,|sVvq, —pVs, -s, pv-r,|q}

Resolution between —pvs and —s
Resolution between rvpvs and =s

fwert,1({—pVS, s}, {-pVs,s, -p}) = 1
fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s> ={rvpVvs,|svq,|TpVs, 1S, pVv-r,

g

fwert,1({—pVS, s}, {-pVs,s, -p}) = 1
fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s> ={rvpVvs,|svq,|TpVs, 1S, pVv-r,

g

sv{ can be subsumed into g

fwert,1({—pVS, s}, {-pVs,s, -p}) = 1
fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s> ={rvpVvs,|svq,|TpVs, 1S, pVv-r,

g

sv{ can be subsumed into g

fwert,1({0, svVa},{q}) =0
fwert,1({"p\/S, _'S}, {"p\/S,—IS, —lp}) =

fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




s> ={rvpVvs,|svq,|TpVs, 1S, pVv-r,

g

sv{ can be subsumed into g

fwert,1({0, s\Va},{q}) =0
fwert,1({"p\/S, _'S}, {"p\/S,—IS, —lp}) =

fwert, 1({rvpvs, =s}, {rvpvs,-s, rvp}) =2




S2 = {rvp\/51 3 _'p\/s! 1S, p\/_lr, }




S2 = {rvp\/51 3 _'p\/s! 1S, p\/_lr, }




S2 = {rvp\/S1 3 _'p\/s! 1S, p\/_lr, }

s3 = {rvpvs, -pVvs, S, pVv-r, 0}




sz = {rvpVvs, -pVs, -S, pVv-r, q}

Resolution between —pvs and —s
Resolution between rvpvs and =s

fwer,1({7pVS, =S}, {-pVs,s, =p}) = 1
fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




sz = {rvpVvs, -pVs, -S, pVv-r, q}

Resolution between —pvs and —s
Resolution between rvpvs and =s

fwer,1({7pVS, =S}, {-pVs,s, =p}) = 1
fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




Sz = {rvpVvs, , 7S, PV, Q)




Sz = {rvpVvs, , 7S, PV, Q)




s3 = {rvpVvs,

S4 = {rvpVvs,

, pVv-r, q}

, PV, q,

}




sS4 = {rvpVvs, -pVvs, s, pv-r, q, 7p}
Resolution between rvpvs and =s

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rvpVvs, TpVs, =S, pv-r, q, —p}
Resolution between rvpvs and =s

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




s4 ={rvpvs, -pvs, s, |pVv-iI, q, —p}
Resolution between rvpvs and =s

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 = {rvpvs, -pVs, =S, pv-r, q, —p}
Resolution between rvM

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




s4 = {rvpVvs, TpVvs, -s,|pV-I, q, P}

Resolution between rvpv d-s
Resolution between pv-r and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




s4 = {rvpvs, =pVvs, s, pv-t, g, mp}

Resolution between ers
Resolution between pv-r and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




s4 = {rvpVvs, =pVs, -s, pv-, g, p}

Resolution between ers
Resolution between pv-r and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rvpVvs, 7pVvs, s, pvar, 4, |

Resolution between rvpv
Resolution between pv-

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rvpVvs, 7pVvs, s, pvar, 4, |

Resolution between rvpv

Resolution between pv-
Resolution between rvpvs and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 = {rvpVvs, pVs, S,

Resolution between rvpvs and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVpPVS, |pVs, —S,|pV-I,
Resolution between rvpv

Resolution between rvpvs and —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVPVS, |pVs, =S,|pVrl, g, |
Resolution between rvpv

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVpPVS, |pVs, —S,|pV-I,
Resolution between rvpv

—pVS can be subsumed into —p

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVPVS, |pVs, =S,|pVrl, g, |
Resolution between rvpv

—pVS can be subsumed into —p
fwert,1({7p, 7pVS}, {-p}) =0

fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVPVS, |pVs, =S,|pVrl, g, |
Resolution between rvpv

—pVS can be subsumed into —p

fwert,1({—p, “pVs}, {-p}) =0

fwer, 1({PV, =P}, {PV-F, —p, 1)) = 1
fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2




S4 ={rVPVS, |pVs, =S,|pVrl, g, |
Resolution between rvpv

—pVS can be subsumed into —p

fwert,1({—p, pVvs}, {-p}) =0

fwer, 1({PV, =P}, {PV-F, —p, 1)) = 1
fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2

fwert 1({rvpVvs, —p}, {rvpVvs,-p, rvs}) = 2




S4 ={rVPVS, |pVs, =S,|pVrl, g, |
Resolution between rvpv

—pVS can be subsumed into —p

fwert,1({—p, “pVs}, {-p}) =0

fwer, 1({PVT, =P}, {PVA, —p, 1)) = 1
fwert, 1({rvpVvs, s}, {rvpVvs,-s, rvp}) = 2

fwert 1({rvpVvs, —p}, {rvpVvs,-p, rvs}) = 2




s4 = {rvpvs, , 7S, PV, d, 0}




s4 = {rvpvs, , 7S, PV, d, 0}




s4 = {rvpvs, , 7S, PV, d, 0}

ss = {rvpVvs, =S, pv-r, q, 0}




ss ={rvpvs, -s, pv-t, q, -p}

Resolution between rvpvs and =s

Resolution between pv-r and —p
Resolution between rvpvs and —p

fwert,1({p\/_'r, _'p}! {p\/_'r, P, _'r}) =1
fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvpVvs, p}, {rvpvs,—p, rvs}) = 2




ss ={rvpvs, -s, pv-t, q, -p}

Resolution between rvpvs and =s

Resolution between pv-r and —p
Resolution between rvpvs and —p

fwert,1({p\/—'r, _'p}! {p\/_'r, P, _'r}) =1
fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvpVvs, p}, {rvpvs,—p, rvs}) = 2




S5 = {rvpVvs, s,

, 4,




S5 = {rvpVvs, s,

, 4,




S5 = {rvpvs, s, , d, D}

Sg = {rVpVs, S, , d, 7D, I}




Se = {rvpvs, s, pv-r, q, -p, r}

Resolution between rvpvs and =s
Resolution between rvpvs and —p

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




se = {rvpVs, s, pv-r, q, -p, |-}

Resolution between rvpvs and =s
Resolution between rvpvs and —p

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




Se = {rvpVvs, =s,/ pVv-r, q, 7p, |}

Resolution between rvpvs and =s
Resolution between rvpvs and —p

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




Se = {rvpVvs, =s, pVv-r, q, 7p, |}

Resolution between rvpvs and —s
Resolution between rvpys and —p

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




s6 = {rvpVs, =s,/pv-r g, —p, I}

Resolution between r\/pvyyd/ —1S
Resolution between rvpys and —p

pV-r can be subsumed into —r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




Se = {rvpVvs, -s,|pVv-r, g, P,

Resolution between rvpvs
Resolution between rvpys and —p

pV-r can be subsumed into —r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys and —p

pV-r can be subsumed into —r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys

pV-r can be subsumed |

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys

pV-r can be subsumed |
Resolution between rvpvs and -r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys

pV-r can be subsumed |
Resolution between rvpvs and -r

fwert,1 ({1, PV —r}, {-r}) =0
fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys

pV-r can be subsumed |
Resolution between rvpvs and -r

fwert,1({r, pV —r}, {-r}) =0
fwert, 1 ({rvpVvs, =s}, {rvpvs,-s, rvp}) = 2
fwert 1({rvpvs, —p}, {rvpVvs,-p, rvs}) =2
fwert 1({rvpvs, —r}, {rvpvs,r, pvs}) = 2




ss = {rvpVvs, s, pv-r g, -p,

Resolution between rvpvs
Resolution between rvpys

pV-r can be subsumed |
Resolution between rvpvs and -r

fwert,1({r, pV —r}, {-r}) =0
fwert, 1 ({rvpVvs, =s}, {rvpvs,-s, rvp}) = 2
fwert 1({rvpvs, —p}, {rvpVvs,-p, rvs}) =2
fwert 1({rvpvs, —r}, {rvpvs,r, pvs}) = 2




Se = {rvpVvs, s, , d, TP,




Se = {rvpVvs, s, , d, TP,




ss = {rvpVs, s, , g, P, I}

S7 = {I’\/p\/S, _'Sy CI, _'p! }




s7 ={rvpvs, -s, q, -p, r}

Resolution between rvpvs and =s
Resolution between rvpvs and —p

Resolution between rvpvs and -r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2
fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2
fwert 1({rvpVvs, —r}, {rvpVvs,-r, pvs}) = 2




s7 ={rvpvs, -s, q, -p, r}

Resolution between rvpvs and =s
Resolution between rvpvs and —p

Resolution between rvpvs and -r

fwert,1({rvpVvs, s}, {rvpvVvs,-s, rvp}) = 2

fwert,1({rvVpVs, —p}, {rvpVvs,Tp, rvs}) =2
fwert 1({rvpVvs, —r}, {rvpVvs,-r, pvs}) = 2













ss ={rvpVvs, s, q, -p, I, rvp}

Resolution between rvpvs and —p
Resolution between rvpvs and -r




ss = {rvpvs, -s, g, -p, -, |rvp}

Resolution between rvpvs and —p
Resolution between rvpvs and -r




ss = {rvpvs, -s, g, -p, -, |rvp}

Resolution between rvpvs and —p
Resolution between rvpvs and -r




sg = {rvpVvs, —s, q, -p, I, |rvp}
Resolution between ervs}a/(j P

Resolution between rvpvg and -r




sg = {rvpVvs, —s, q, -p, I, |rvp}
Resolution between rvpvs apd —p

Resolution between rvpvg and -r
rvpvs can be subsumed into rvp




S8 = {r\/p\/S, _'S! q! _'p! _'r! M}J
Resolution between rvpvs apd —p

Resolution between rvpvg and -r
rvpvs can be subsumed into rvp




S8 = {r\/p\/S, _'S! q! _'p! _'r! M}J
Resolution between rvpvs apd —p

Resolution between rvpvg and -r
rvpvs can be subsumed into rvp




ss = {rvpvs

/ _'S! q!

P

=l

o

Resolution between rvpvs apd —p

Resolution between rvpv
rvpvs can be subsume

nd -r
into rvp




Ss={

rvpVs

Resolution between rvpvs a

/ _'S! q!

P

=l

Resolution between rvpv
rvpvs can be subsume

Resolution between rvp and —p

)

!

rvVp

P
nd —r
into rvp




sg = {rvpVvs, =S, q,—p, -, |rvp}
Resolution between rvpvs apd —p

Resolution between rvpvgand -r
rvpvs can be subsumed into rvp
Resolution between rvp and —p




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs apd —p

Resolution between rvpvgand -r
rvpvs can be subsumed into rvp
Resolution between rvp and —p




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp
Resolution between rvp and —p




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp

Resolution between rvp and —p
Resolution between rvp‘and -r




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp

Resolution between rvp and —p
Resolution between rvp‘and -r

fwert,1({er\/S, r\/p}, {r\/p}) =0




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp

Resolution between rvp and —p
Resolution between rvp‘and -r

fwert,1({er\/S, r\/p}, {r\/p}) =0
fwert,1({rvp, =p}, {rvp,mp, r}) = 1




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp

Resolution between rvp and —p
Resolution between rvp‘and -r

fwert,1({er\/S, r\/p}, {r\/p}) =0

fwert,1({rvp, =p}, {rvp,mp, r}) = 1
fuer 1PV, 1), {rVp,, p)) = 1




sg = {rvpvs, s, q,=p} ~n, rvp}
Resolution between rvpvs a

Resolution between rvpvgand/—r
rvpvs can be subsumed into rvp

Resolution between rvp and —p
Resolution between rvp‘and -r

fwert,1({er\/S, r\/p}, {r\/p}) =0

fwert,1({rvp, =p}, {rvp,mp, r}) = 1
fuer 1PV, 1), {rVp,, p)) = 1




) _IS! q5 _Ip! _Ir!

}




) _IS! q5 _Ip! _Ir!

}




Sg = { , 7S, g, P, T,

Sg = {—.s, g, -p, I,

}




Sg = { , 7S, g, P, T,

Sg = {—.s, g, -p, I,

}




ss ={rvpvs, s, q, 7p, T, 'Vp}

|

S9 = {_'S! q5 _'p! I, r\/p}

fwert 1({rvpVvs, —p}, {rvpVvs,—p, rvs}) = 2
fwert 1({rvpVvs, —r}, {rvpvs,r, pvs}) = 2




Sg = { , 7S, g, P, T,

Sg = {—.s, g, -p, I,

}




Sg = { , 7S, g, P, T,

Sg = {—.s, g, -p, I,

}




So={"S, q, p, I, rvp}

Resolution between rvp and —p
Resolution between rvp and -r

fwert,1({rvp, =p}, {rvp,mp, r}) = 1
fuer 1PV, 1), {rVp,, p)) = 1




So={"S, q, p, I, rvp}

Resolution between rvp and —p
Resolution between rvp and -r

fwert,1({rvp, =p}, {rvp,—p, r}) = 1
fuer 1({rvp, 1), {rVp,, p)) = 1




Sg = {—.s, g, -p,

;




Sg = {—.s, g, -p,

;




Sg = {—.s, g, -p,

S10 = {_IS, q, —|p,

;




S10= {_IS, q, p, 7, rvp, r}

Resolution between rvp and —p
Resolution between rvp and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10=4{-S, q, p, I, r\/p,ﬂ
Resolution between rvp and —p
Resolution between rvp and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10=4{"S, q, P, ﬂ r\/p,ﬂ
Resolution between rvp and —p
Resolution between rvp and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10=4{"S, q, P, ﬂ rvp,
Resolution between rvp and Ap

Resolution between rvp and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




Resolution between rvp and -r
Resolution between r and -r

S10=4{"S, q, P, ﬂ rvp,
Resolution between rvp and Ap

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {—S, g, P,

| rvp

I

Resolution between rvp and Ap
Resolution between rvp and -r
Resolution between r and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {—S, g, P,

o

rvp,

I

Resolution between rvp and Ap
Resolution between rvp and -r
Resolution between r and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {—S, g, P,

o

rvp,

I

Resolution between rvp and 7p
Resolution between rvp and -r
Resolution between r and -r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {_IS, q, —|p,

E

rvp,

I

Resolution between rvp and sp
Resolution between rvp and -r

Resolution between r and —r
rvp can be subsumed into r

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {_IS, q, —|p,

-, [rvp]

I

Resolution between rvp and sp
Resolution between rvp and -r

Resolution between r and —r
rvp can be subsumed into r

fwert,1 ({"r, r}, {

1) =0

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {_IS, q, —|p,

-n)[rvpl 1

Resolution between rvp and sp

Resolution between

rvp and -r

Resolution between r and —r
rvp can be subsumed into r

fwert,1({"r, r}, {
fwert=1({rvp! r}a

1) =0
) =0

fuert 1({rVp, =1}, {rvp,, p) = 1




S10 = {_IS, q, —|p,

-n)[rvpl 1

Resolution between rvp and sp

Resolution between

rvp and -r

Resolution between r and —r
rvp can be subsumed into r

fwert,1 ({"r, r}, {

1) =0

fwert=1 ({I’\/p, r}a

) =0

fuert 1({rVp, =1}, {rvp,, p) = 1




S1i0 = {_'S, q, _'py y rvp! }




S1i0 = {_'S, q, _'py y rvp! }




S10 = {—.s, d, p,

S11 = {—|s, d, -p,

, VP, I'}

) rvp’ )

}




S11={78, g, 7p, I, rvp, I,




S11={78, g, 7p, I, rvp, I,

Gls,) - yes




